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6.

The incumbent firm and all potential entrants have marginal cost = 2 in an industry with inverse demand P

=38 — @ for a homogeneous product.

(a) Suppose that 2 new firms enter (at zero fixed cost) but that post-entry competition is described by the
basic Cournot model. And the corresponding payoffs (profits) (1, 72, m) = 21 .

(b) And suppose that there are entry barriers such that incumbents must sink a cost of X = 25 in order to
enter. In subgame perfect Nash equilibrium, how many firms will enter if post-entry competition is
Bertrand (Vg)? If it is Cournot (Nc)? (N, Nec) = 22) .

Firm 1 and firm 2 are the only producers of spring water in the market. The market demand for spring water

is given by P =70 ~ Q1 — 0, . Firm 1 and firm 2 compete by choosing quantities 01 and Qs respectively.

Each firm has a marginal cost of 10 and no fixed cost.

(a) Suppose only firm 1 has a chance to bribe the government and get the right to choose the quantity first,
the maximum amount of money that firm 1 is willing to pay is (23) .

(b) Suppose the two firms decide to collude and share the profit equally, but both firms do not care about
their reputation and might try to take advantage of the other. Foreseeing this, they make a legally
enforceable contract saying that if a firm does not produce the quantity agreed, it has to pay some

penalty to the other firm. The minimum amount of penalty that ensures each firm producing the right

quantityis __ (24) .

Suppose that Intel has a monopoly in the market for computer chips. In order to produce X computer chips,
it costs Intel C(X) = 2X% The demand for computer chips is Xp=12 - 0.25 P.

(a) Total surplus is maximized in the computer chip market when the level of output is 25 .

(b) If the government subsidized Intel s for every unit of computer chips produced. The surplus-maximizing

choice of subsidy induces Intel to produce the efficient number of chips from part (). And a subsidy of
(26)____ per unit is required.
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